Lessons 37,38 /b, §7‘er7 Fol,, (34,3738 due wer. )

2’:1_ 2 i‘{) Te gw(x/ﬂ) £x) ac. {M(ﬂ,f)/’D

27 J
\jtV& 69,"\ " LtL(’XOB ;[2/) M[ﬁ"t)-ﬁa

Gol  ulxt) ?Z/n’;/ Sin = (/%,Gf"”{qtﬁ ém‘ft>
= f SOL%(\ G " e & F ;af'r"fpge""“
Bz on g{: 9(%) S "= A
Case : £IX) ;;m hut 420, (Phack
Sl ulct) = ﬁf/} S T Gos— Sk

n=1

Sin « Cos E -+ éﬁ, (o(-l—ﬁ)—f—,z Son (d-—ﬁ)
:%E/AV, gl”l (Xfc'é> ] 5,4 5/;, (’X'c‘f—)
n=|

h=|



1

/2 Uy /

U(’X/O\: é/@[’)() "/é%’(?{) = ,P{%) [/

M,C(')(/ 0\3 - l_,o,p ’(’X\";&‘CIF’('X) ~ 0 t/
%

u (o 4) = 5 Flct) PRS- 0,

jmpor+aw+", ﬁ T tThe sfM//t ‘QVWM/Q

1s the Sum 01A 7 Fﬁu,n'gf e Soyies 0#

oN [OJLj/ ond h&m&/ /’—F < Hle
OUlO{ P@V{O%I(C es/Fension 0# ,p/

/X\//\ <

h/S ‘s the L ( —P* 0 the book\ " sm:f/c
\DDVMM [m
épﬂhavnl case vJ[wVe, ?['7()13_9 D;

M(X ’t)’ ; ):—P('xnﬂ 7L‘p(’)(—cf]*.’;?/(ié@‘*"‘k)’@(’("{‘)?
WLW& &z(’X S glw) Au where ; bcrc,




6 the odd Fwioo{/’o ex1ension 014/ on [oL].

)
DA/CMWV'f(é So(”; cgqm(: U, ,

/\/6w variables E\/:O(/ré‘b

W:’X'C,‘L—
oy vy v
Uy = dx = av Iax ¥ aw ax:HV'iwwa-i

2 aw
M')(’)( = (qv+uw>v Z\:_(-’I” (Mv‘f'uw W;lv)_(,

l \
gssuwming U /S
E=sma5th S0

/ _ 2 ‘IVLW\-'L u V: MVV\/
&e,+ (A,t_t = C (Mvv 'QL{Wv *MWW>' v

u'x')( - t'{Vv ‘,'g‘uwv + Unww

ﬂu; Wt CUny=u,, Boils  dowuto u = O,

2[%]- i

’Bm(a\/ fpE f/ = Len of sther var = K(v)
@wb\( Ppe U= Sk(v\a{v + C(w>
PO + ¥ (w)



U = C@(X+c’t> + W(?('C't)

Mn+

y (x,0) = Cé(%ﬁ Yix) = D(x) -
u,(x 0) = <@ "(x) = c¥lx) = ;Z;)
@'(x) — V'x) = C/;(X

() @b — Vo) =¢ S gu)dly

(A) DX+ Yi) = pix)

AO'{A / C€(°<> ((7(\ + LS j(’A 0{M>
(V=B (x) - L (260 -2 9&1\»{“)

Get the same sol” as above .(



